
SPORT/CURRITUCK 17' INSTALLATION INSTRUCTIONS 

 

 

1.) Open packages and remove contents and hardware. You should have a total of 3 different sizes of 

screws, along with finish washers. The list below indicates where each size screw is used during 

installation. You can skip to step 2 and refer back to the hardware list as needed. 

Note that we do not pre-drill any holes in areas where it will fasten to the hull/fiberglass.  This is 

because the exact location of these holes varied slightly, and would cause the need to drill unnecessary 

holes in the hull when replacing it with the same interior. If you are replacing a sport/currituck interior, 

you can use the old parts as a template to mark the hole locations. 

 

Hardware: 

A. #14 x 2" flat head (largest screws) - These are used to fasten the console cleats/blocks to the deck of 

the boat. You will be using the finish washers with these screws.  

B. #12 x 1 1/2" oval head (2nd largest screws) - These are used in two areas - To fasten the seat clamps 

to the hull, and the console to the starboard seat clamp. Finish washers are used with these screws. 

E. #10 x 1 1/4" flat head - These are used to fasten the legs to the underside of the console. 

 

2.) Locate the starboard seat clamp and the rear seat(see below). Position the rear seat in boat in 

desired location. Please note that the rear seat location can be moved forward or backward depending 

on your preference.  If you are replacing an old interior, you can position the rear seat in the same 

location.  

                                             

3.)  Place the starboard seat clamp into the molded "step/ledge" that is found along the inside wall of 

the hull, and over the rear seat. Note that the notch in the starboard seat clamp which is open ended is 

the rear. 



4.)  Once the starboard clamp is in position, drill 5 pilot holes, evenly spaced, through the seat clamps 

into the fiberglass using a 1/8”  drill bit (see below).  NOTE: There are 4 pilot holes in the center of the 

clamp, and one of them in the front of the clamp (forward of the notch). If you are replacing an old 

interior and wish to use existing holes, you can use your old seat clamps as a template for the location of 

the holes on the new seat clamp. 

    

5.)  Using 5 #12 X 1 1/2” screws and finish washers, screw the clamp into hull. We recommend using a 

sealant/adhesive, such as 3M 5200 on the screws to seal out moisture and create a better bond. Note 

that you may remove the rear seat at this time until a later step. 

6.) Assembling the console. Locate the main console assembly and two console legs (the smaller leg is 

the outer leg, the larger is the middle). You will want to fasten the legs while the console is upside down 

for better access, just be sure you do it on carpet or other soft surface so you don't scratch the top. Drill 

pilot holes with a 3/32" drill bit prior to fastening with screws. Note: It's recommended to use wood glue 

or epoxy in addition to the screws for added strength. Using #10 X 1 1/4" screws, fasten the legs to the 

underside of cosnole using the pre-drilled holes. Next, locate the leg brace panel (rectangle piece of 

mahogany), and fasten to the legs. 

7.) Locate the front seat. You will be fastening this to the top of the console legs, using the same screws 

and method as the previous step. To gain better access, you can lay the console front side down, just be 

sure it doesn't shift out of position. 

8.)  Mounting the console: Place console in position snugly against the starboard seat clamp, and also be 

sure the front seat fits inside of the notch in the front of the clamp. Trace the position of the two 

mounting blocks with a pencil (these fasten the console legs to the deck).  Remove the console.  Using a 

9/64“ drill bit, drill 4 pilot holes through the outer (shorter) mounting block into the deck, and 5 pilot 

holes through the middle mounting block and into the deck. Remove blocks and drill larger 1/4" holes 

through the pilot holes in the blocks, NOT the deck. This is to prevent the mounting screws from binding 

while going through the blocks. Next, place the blocks in position on the deck and secure them to the 



deck using 9 #14 X 2" screws w/ washers.  Tip:  It is a good idea to use 3M 5200 marine adhesive in 

addition to the screws for waterproofing and better adhesion to the deck. Next, place console back into 

position.  Once in place drill 4 1/8” pilot holes, evenly spaced, through the top of the starboard side of 

the console and into the seat clamp. Once holes are drilled, secure the console to the starboard seat 

clamp and to the deck mounting blocks installed in the previous step using #12 X 1 1/2“ screws and 

finish washers. 

9.) Place the seat back into position if it was removed in a prior step. Locate the port side seat clamp, 

which should be the last piece remaining. This will be fastened to the molded step in the same fashion 

as the starboard clamp. You will notice the notch in the clamp is larger than the rear seat. This is so that 

it can be adjusted closer or further from the console based on the owners size or preference. Once you 

have found the desired location of the seat, fasten the port seat clamp so that the seat is snug up 

against the rear, stern-most end of the notch (as to make it impossible to move the seat further back). 

Once this is fastened, you will need to secure the right side of the seat. Do this by drilling a 1/8" pilot 

hole through the top of the seat and into the top of the molded step (fiberglass). Fasten using a #12 x 

1.5" screw with washer. 

Tip: It may be helpful to refer to photos on our website. Also, if you have specific questions about 

installation, send an email to sales@specialtymarine.com and we can answer any questions you may 

have. 

 


